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FREkBALE|  fER &5 R AY|BERT |BHMES
1] 13:30 T EE ik 5 12:40 12:50
2[ 13:30 8 EEk 9 12:40 12:50
€32 1859
FREkBALE|  fER &5 fEH A | BEXT |[HtES
1] 13:30 2 e |[SeRyusig| 1 12:50 13:00
3 13:30 £°g —fi& HY % 8 12:50 13:00
2[ 13:30 8 BF PYE 5 12:50 13:00
4| 15:00 8 HEf g% 1 14:20 14:30
7| 15:00 z —h% P& 4 14:20 14:30
5[ 15:00 B =R A& 2 14:20 14:30
6| 15:00 2] —fi% M 1 14:20 14:30
8| 16:15 % —f% | Now—#% | 10| 1535 15:45
9| 16:15 2] =2 | nvv—1& | 10| 1535 15:45
10| 16:15 5 —fi% NR—1 | 2 15:35 15:45




